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(5xlﬂ3)+(7x 10%) + (4 x 1I]1:|+ (6 x 10”) in standard form.

is the greatest?
+(6x10%)+ (4 x 10") + (7x 10%)

x 10%) + (8 x 10%)

f 57 x 5% asa single power.
a product of powers.
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ok

Simplify.

3k

e exponent of this power: (-5)*
) X (=4) x (—4) x (-4) as a power, then evaluate the power.

of 10,
n you would do first to evaluate (—4)2 T BT

1 would do first to evaluate (6}n +[10+ (’2)]2 -2,
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o do first to evaluate (6)° + [10+ (-Zm

80 x 3% x 0.75

any errors in the work below.

oduct of (-6)5 X (——ﬁ)? as a single power

L
e quotient of 5 as a single power.

(-2)° x (-2)°
=23 x(-2)°

2 3
B Bualiste 52 4 A° & "32 - 53 +5°+6

26. Simplify, then evaluate.
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Lxe+gd

x(-2)’

o 52 467+ 52467+ 52467

2- @)+ 01l +4

plify, then evaluate,

Simplify, then evaluate.
: 2 2
(45 +43] 2 [29 3 25]

Simplify, then evaluate.
b [6* 562 - [ 9]
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"ULIO} prEpUBIS

0 000 cm®. Write the side length as a power of 10. Determine the s

lengths of 10° and 10°.

e the expression to show the area and the perimeter for the rectang
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. I ’powt\‘“'f; f,‘%wrw
Y
=5

2. 6 = 7774
a4 (=t)" +

“(+)"

) 5
AN TR
B 3% i0")+ (5x10°) v (

3874 b

B % i0°) + {bxi0") 4

5l 5

K 5750

".'J."

L8xte’ )+ (2 x00" ) + (Ex10") -
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